() At~50—= 128 ns; If one uses Fig. 9.10, the peak is 0.8 at T = 2.4 and the FWHM
max

interval is AT=3.8-1.7=2.1= AUty ~At=2.1x5.15ns=10.8 ns
()  Vary T from 0 — 1, plot the output ; n; = 6.3x10*19 atoms for all cases.

To= 0.1 0.3 0.5 0.7 0.75
Ry= 0.9 0.7 0.5 0.3 0.25
AN(cm-3) 4.11+17 1.08+18 1.95+18 3.29+18 3.77+18
tp(s)) 7.41+7 1.93+8 3.52+8 5.94+8 6.8+8
n(atoms) 6.16+18 1.61+19 2.93+19 4.94+19 5.66+19
Pout(MW) 303 603 528 130 32
ni/ng 10.2 3.91 2.15 1.28 111

Nx 1.0 0.98 0.81 0.38 0.176
W(Joules) 6.075 7.72 6.8 3.27 1.53
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